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1. The famous freedom fighter of Malabar, Mozhikunnath Brahmadattan Namboodiripad
was born in
A} Manjeri B) Cheruplassery
C) Kalpathy D) Payyannur

2. Which of the following woman from Kerala was not a member of Constituent Assembly
of India 7
A) Dakshayani Velayudan B) Ammu Swaminathan
C) Accama Cherian D) Anne Mascarene

3. Which of the following Viceroy is associated with libert Bill Controversy 7
A) Lord Lytton B) Lord Minto C) Lord Rippon D) Lord Curzon

4. Which foreign power captured Cochin in 1663 7
A) The Portuguese B) The French C) The British D) The Dutch

5. The Second American Continental Congress in 1775 was held at
A) New York B) Philadelphia

- C) Washington D) San Francisco

6. Who wrote the book The Spirit of Laws' 7 — y
A) Montesquieu B) Voltaire C) Rousseau D) Thomas Paine

7. Name the treaty through which Russia withdraw from First World War.
A) Treaty of 5t. Petersburg B) Treaty of Brest Litovsk
C) Treaty of Versailles D) Treaty of St. Germain

8. Who was the British Governor General of India during the Revolt of 1857 ?
A) Lord Canning B) Lord Dalhousie
C) Lord Elgin D) Lord Lytton

9. The Book Gandhiji wrote in 1909 was
A) My African Years B) My Experience with Truth -~
C) Satyagraha : A New Way of Life D) Hind Swaraj

10. The Kerala leader who met Gandhiji at Tirunelveli in 1921 as a part of his fight against

untouchability and caste system
A) Dr. T. M. Nair B) C. Sankaran MNair
C) T. K. Madhavan D) K. P. Raman Menon
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11. Maitch the following.

List -1 List=1l
a. Intertropical Convergence Zone 1. Horse Latitude
b. Westerlies Il. Polar Front
c. Subtropical High IIl. Found between 30° and 60° latitudes
d. Subpolar Low v, Doldrum
A]a-W,b-—Lc-ilLd-H E}a—ni,b—w,c—l.d—ll
\ C)a-I,b-ll,c=1d-H D)a-l,b=IV,c=W, d-1l
12. The road density in Kerala
A) 548 km/100 sq. km. B) 627 km/100 sqg. km.
C) 258 km/100 sq. km. D) 329 km/100 sq. km.

13. Which of the following statements are correct 7
a. Black colour is used for showing watarbodies of permanent nature in toposheet.

b. A map on 1 : 50000 scale is a standard topographical map used by defense

forces.
¢. The land features are mpmnlﬁdnnmpmrmtmmmmmisymumkmwn
as conventional signs.
_ d. The scale of toposheet varies from 1 250000 to 1 : 25000.
A) Statement a and d are i e
B) Statement a is incorrec d are correct e A

C) Statement a, hlﬂimm-ﬂﬂhm :
D) Statement d is correct and a, b, ¢ are incorrect
14. Examine the statements and choose the comrect one.
a. The narrow zone of discontinuity based on change in mineral composition
between crust and mantle is known as Mohorovicic discontinuity.
b. The crust and upper mantle are together called Asthenosphere.
A) Statement a and b are correct B) Statement a is correct and b is wrong

C) Statement b is correct and a 1s wrong D) Statement a and b are incorrect

15. Select the correct answer using the code given below in the List.

List -1 List -1l
l. Mineral Heartland of India a. Mumbai
Il Zirconium b. West Bengal
Ill. Cottonpolis of India ¢. Chotanagpur Plateau
V. Indian Iron and Steel Company  d. Kerala Coast
A) |-d,ll—b, MN-a,V-c B) I-b,ll-a M=c,IV-d
C) 1-4a, NH-d,-bN=-c D) l-c li—d, M-a,iV-b

A -A-
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16. Which is/are true for Treasury Bills in India ?
|. Treasury Bills are issued by State Governments.
Il. Treasury Bills are less liquid compared to Call Loans.
lil. Only Central Government can issue Treasury Bills.
IV. Treasury Bills are not eligible for inclusion in Statutory Liquidity Ratio by Banks.

A) Only | and IV B) Only Il and Il
C) Only 1l and IV D) Only II, Il and IV

17. GDP at Factor Cost is equal to
A) GNP at Market Price minus Net indirect Tax minus Depreciation minus Net

Factor Income from Abroad

B) NNP at Market Price plus Depreciation minus Net Factor Income from Abroad
minus MNet Indirect Tax

C) NDP at Factor Cost plus Net Factor Income from Abroad plus Depreciation plus

Met Indirect Tax
D) GNP at Factor Cost minus Net Factor Income from Abroad plus Depreciation

minus Net Indirect Tax

18. mmdhmmEmrrec:tabuutﬁe“ﬂpﬁma!hﬂifuhama?
A) It maximizes the tax revenue for the Government.
_B) it leaves the tax revenue unchanged.
C) It minimizes the IR o0 B G §
D) It leaves the economy ' =

TR U Q. denes PAKESSE 8
19. Of the following which is not true about the estimation of Personal Disposable Income
. It immmwﬂuﬂmmw.
il It includes transfer payments but excludes rent and interest.
I, It includes personal tax but excludes transfer payments.
IV. It excludes personal taxes and includes transfer payments.
A) Only | and IV B) Only Il and IV
C) Only |, 1l and Hll D) Only IV

20. Of the following, which is/are not correct in respect of 'Aulonomous Liquidity (AL)’
related to ‘Liquidity Adjustment Facility (LAFY 7
I. It consists of liquidity flows that flows 1o commercial banks without monetary
policy actions.
I, It includes policy induced flows from the RBI to Scheduled Commercial Banks.
lil. 1t consists of Central Bank Balance Sheet flows that arise from regular central

banking functions as currency authorty.
IV. itis the sum of Central Bank Balance Sheet flows that arise out of money market

B
{E

e

B B

operations.
A) Only Il and IV B) Only 1l and lll
C) Only | and Ili D) Only | and IV
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21. Which of the following statement is/are correct about Emergency Powers of the
Union Government 7
|. Three different kinds of Emergency Powers are there in the Indian Constitution.
Il. A Proclamation of Emergency may be made by the President at any time he is
satisfied that the security of India or any part of India has been threatened by
war external aggression or armed rebellion.

A) Only | B) Only I
C) Only | and Il D) Both | and Il are wrong
22. Which Schedule of the Indian Constitution deals with the Division of Powers between
Union and the States 7
A) 2m B) ™ C) 12% Dy 1=

23. Which of the following statement is/are not correct about National Human Rights
Commission 7
|. The NHRC has been appointed by an Act of Parliament.
Il. The Commission is responsible for spreading awareness amongst the masses.
lll. Chairperson of National Commission for Women is an ex-officioc member of
NHRC.
IV. Members of NHRC are appointed by the President in consultation with Chief
Justice of Supreme Court of India.

A) Only | B) Only I, Il and IV
C) Only Hll D) Only IV
24. The word Secularism is incorporated in the Preamble through which Constitutional
Amendment ?
A) 42+ B) 44™ C) 46" D) 43"

25. The term Socialism in the Indian Constitution indicates
|. MNationalisation of all means of production and the abolition of private property.
Il. Nationalisation of only major sectors of economy and make some sort of
restriction on the exercise of private property.

A) Only | B) Oniy I
C) All of the above | and |l D) Both | and Il are wrong
26. Recruitment to All India Service is made by
A) UPSC B) State Public Service Commission
C) Joint Public Service Commission D) Staff Selection Commission
27. Who gives recognition to the political parties in India 7
A) Indian Parliament B) Supreme Court of India
C) Election Commission of India D) Central Government
28. A command issued by the Supreme Court or High Court when a public official refuses
to perform his duties is

A) Habeas Corpus  B) Mandamus C) Certiorari D) Quo Warranto
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29, Institution which is competent to enquire into corruption allegations against
Prime Minister, or a Minister in the Union Govemnment or Member of Parliament 7
A) Lokayukta B) High Court
C) Indian President D) Lokpal

30. Which Article of the Constitution of India deals with the procedure for the election of
Indian President 7

A) 352 B) 54 C) 325 D) 66
i
i 31. Name of a traditional Dance-Drama of Assam.
A) Kathak B} Sattriya C) Odissi D) Chhau
32. What is the motto of South Asian Games 7
A) Peace, Prosperity and Progress B) Achievement and Progress
C) Progress and Victory D) Peace and Prosperity
33. Give the year in which M. T. Vasudevan Nair received Jnanapith Award.
A) 2019 B) 1984 C) 2007 D) 1945
34. What is the venue of Nehru Trophy Boat Race 7
A) Punnamada Lake B) Kumarakom
C) Vembanad Lake D) Pampa River
35. Who is known as Kerala Maupassant 7 :
A) O. Chandu Menon B) G. Sankara Kurup
C) M. T. Vasudevan Nair D) Thakazhi Sivasankara Pillai
36. Who is known as Kerala \yasan 7
A) O.N. V. Kurup B) Ezhuthachan
C) Kunhikuttan Thampuran D) Ravi Varma

37. Which place is associated with Athachamayam 7

A) Thuravoor B) Thripunithura C) Thrikkakara D)} Thrissur
38. From which place did Kuchipudi originate 7

A) Andhra Pradesh B) Tamil Nadu C) Kerala D) Odisha
39. Give the name of an International multi sports event conducted for athletes with

physical disabilities.

A) Summer Olympics B) SAF Games

C) Paralympic Games D) Winter Olympics

A =10=
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40. Who introduced Ottan Thullal ?

A) Ezhuthachan B) Kunjikuttan Thampuran

C) O. V. Vijayan D) Kunjan Nambiar
41. The technology used by e-book readers like Amazon kindle is

A) E-Book B) E-Board C) E-Ink D) E-Panel
42. is not a function of operating systems.

A) Memory management B) Processor management

C) Input-output management D) Resource allocation
43. _device can join a LAN to a WAN.,

A} Hub B) Bridge C) Router D) Gateway
44. A document containing links, in addition to normal text, to other documents is called a

A) Hypertext B) HTML

C) Home page D) Mone of these

45. The cyber crime where a hacker sends malicious links to users 10 gain access 10
their computers and accounts is called

A) Identity theft B) Ransomeware
C) Spoofing D) Phishing
46. The Indian Scientist who discovered the compound Mercurous Nitrite is
A) Meghnad Saha B} Prafulla Chandra Ray
C) Homi J. Bhaba D) Satyendra Math Bose
47. s the marketing arm of ISRO which markets space products and services
of ISRO to domestic and international customers.
A) ISTRAC B) ANTRIX C) CENTRIX D) ISMARKET
48. Which among the following is not a renewable energy source ?
A) Hydro energy B) Geothermal energy
C) Matural gas energy D) Biomass energy
49, ___makes up the major share of greenhouse gas emissions.
A) Carbon dioxide B) Carbon monoxide
C) Nitrogen D) Nitrus oxide
50. Which among the following is not a major element of sustainable development ?
A) Climate change B) Economic growth
C) Social inclusion D) Environmental protection

A -12-
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51. The remainder obtained when 1! + 2| + 3! + ... + 95! is divided by 15 is
Ay 3 B) 14 C) 1 D) 0

52. Ravi studies for Eghuum daily. He devotaes Eghnurs of his time to Science and
Mathematics. How much time does he devete to other subjects 7

11 1 13
A) EE hours B) E-I-E hours C) 3}51 hours D) EE hours

23. Raju's income is 20% less than that of Rahim. How much percentage is Rahim's
income more than that of Raju's income 7

A) 20 B) 25 C) 30 D) 35

54. If the compound interest on a certain sum at 4% for 2 years is ¥ 2,448, then the
simple interest on the same sum at the same rate for the same period is

A) T 2,500 B) ¥ 2400 C) ¥2,436 D) T 2420
55, If1_=£=.!E=i.thanﬂ1ﬂvaluemx+y+zisaqualm
18" 8 .y 30
A) 25 B) 37 C) 42 D) 40

'56. I a flight of 600 km, an aircraft was slowed down due to bad weather. lis average
speed for the trip was reduced by 200 km/hr and the time of the flight increasad by
30 minutes. The duration of the flight is
A) 1 hour B) 3 hours C) 2 hours D) 4 hours

37. The arithmetic mean of the weights of 14 students in a class is 42 kgs. If the weight
of the teacher is also included, the mean weight increases by 600 grams. Then the
weaight of the teacher is

A) B4 kgs B) 54 kgs C) 62 kgs D) 51 kgs

58. The sum of all two-digit numbers which leave the remainder of 5 when they are
divided by 7 is equal to
A) 715 B) 702 C) 615 D) 602

59. If fis a function satisfying f(x + y) = f(x) f{y) for all x, y € [ such that (1) = 3 and
3" Hix) =120, then the value of n is

A) 5 B) & C) 4 D) 8
A 14
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51. 11+ 21+ 3! + ... + 95! ﬁlﬁmdmhmﬁdmﬁmmﬂ
A) 3 B) 14 C) 1 D) O

2 ' 4 o
52. oot DRee 55 riokd e idimd, wdno 28 Amiabed 23 nosd Sem b3 ricdd

eRermE. eah T¥d datudniert o SRS AmdEmn ?
13

11 : 13 1n e
A) 22 rioried B) 3.C rlodrish  C) 8.z rosdrisb | D) 275 rosdrikh

53. etued stRobe) dkesn mnmﬁcd 20% B8 ol dheoll Mol RS m-:n:t:@c:::d

ST Pevme i 30 7 .
A) 20 B) 25 C) 30 D) 35
54. weth ROFE Hegd 4% oond 2 Sermv eSor Euacin T 2,448 comod, stiiegy et
moEd udle e dedodos T L,
A) T 2,500 B) ¥ 2,400 C) ¥2436 D) T 2420
15 x_10_ 'z
55. 8 6 y 30 Sod, X + Y + 2 500 SRR 1 Adnamrog
" A) 25 B) 37 C) 42 D) 40

56. 600 4206 TWHHTCY,, TIHL BHIRT HINOTN JTRAHRCT Sissh InHcec:.
cunesd et Soomo Serisny, mowdni 200 & Lo o SNFTRCLE: TF; MEEE TRREE

30 fswinvd, FuFcctoRs JanEd oL SEha______ ShTEs
A) 1 rice B) 3 rlosdrist C) 2 rigtdrivy D) 4 modrivs

57. 3onscdneddd 14 SmHFIY SRddds sonsed dma 42 s v b9¥E SndEns
ReONTI, HoaRD ey 600 MBIV, HUSCIRILIC. TMTY, TP ety

A) 64 8mmc. W= C) 62 &.m0. D) 51 &me.

’ -.i- R g 1 E] E_IE D] E:E

o0e (Q
59. focuomb o x, ye Ni(1) =333 3" f(x) =120 merif(x + y) = f{x)fly)at Sertesmm
FoUg' wotRTd, n F 3Py ’
A) 5 B) 6 C) 4 D) 8
A 15-




116/22 - K

60.

61.

62.

87.

68.

69.

70.

If 4" = (0.5)° ““:[%] . then the value of x is

1 c E D 2

A1 8 3 ) 3 1 .=

The 20" term of the seres 2 x4 + 4 x6+6x 8+ .. is

A) 1680 B) 1640 C) 1600 D) 1620

Lot x@y=""2Y fory#0.1f4®5 =k ® 10, then the value of k is

¥

A) 7 B) 8 C) 9 D) 6

If CENTURY is coded as AGLVSTW, then what is the code for SACHIN 7

A) QCAFKL B) UCEFGL C) QCAJGP D) UCAJGP
Find the odd among the following.

A) SORE B) SOTLU C) NORGAE D) MEJNIAS

Two cars start from the opposite places of a main road, 150 km apart. The first car
runs for 25 km and takes a right turn and then runs 15 km. It then turns left and then
runs for another 25 km and then takes the direction back to reach the main road.
In the meantime, due 1o a minor break down the other car has run only 35 km along
the main road. What would be the distance between two cars at this point 7
A) 85 km B) 75 km C) 80 km D) 65 km

If today is Saturday, what will be the day 350 days from now 7

A) Saturday B) Monday C) Friday D) Sunday
What will come in place of question mark (7} in the following series ?

35 210 1050 4200 7 25200

A) 12340 B) 12600 C) 12200 D) 12580

A clock is set right at 5 a.m. The clock loses 16 minutes in 24 hours. What will be
the true time when the clock indicates 10 p.m. on 4" day 7
A) 12 p.m. B) 10 p.m. C) @ p.m. D) 11 p.m.

If the minute hand of a clock has moved 300°, then how many degrees has the hour
hand moved 7

A) 25° B) 150° C) 50° D) 300°

The difference of two numbers is 1365. On dividing the larger number by the smalier,
we get & as quotient and the 15 as remainder. What is the smaller number 7
A) 240 B} 270 C) 295 D) 360

16
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- ~ax_[1Y

1 T 5

A} 1 B) C) & D) 3
2x4+4%xB+6x8+.... Sorcdh 20530 &0

A) 1680 B) 1640 C) 1600 D) 1620
y#0Rx@y=2"2 undg, 4@5=k®10 w0, k cH Py

A) 7 Y B)s C) 9 D) 6
CENTURY syoraociz AGLVSTW 2ot Hefedamd, SACHIN ot mofed omhdiEs 7

A) QCAFKL B) UCEFGL C) QCAJGP D) UCAJGP
#WASSNYd emmana oo SorbkRalb.

A) SORE B) SOTLU C) NORGAE D) MEJNIAS

ool oF dﬂahoddhdﬂmqadm nimhEatded = Wz 150 &. 008, saod Epoht
Elmtfﬂﬁﬂi} 0225 4 -ﬁ:t‘ bl dodo vk Achh 15 Adke ’t...:abgd eaciod o0 n.:-l:z! ach
=od 25 ¢.o0e LERd mre S, Ohola) Fwd I TRerhs OFTD érﬁ'ﬂm‘;#ﬂ
S@ RO g Enodidoemn LLEE) n.-.--!'ﬁ'ﬁud ot w2 dﬁm :if:!r.. 35 & 2Zoe.

. 203 a0, S Aodd, 20 B Srbad ded emEs 7

70,

A) 85 8,500, B} 75 &.&oe. C) 80 &.&oe D) 65 4.2

2ot BRRTCIOE,, webiod 350 DI wdns ﬂﬁ&d:'gtﬁ 9

A) Zramd B) ZAmesemd C) se=md D) maxmc
o e b0 ot 1) 200, e S ?

35 210 1050 4200 7 25200

A) 12340 B) 12600 C) 12200 D) 12580

rizacinogetids am. AHiciRA T SRt abmom o, il 24 rdndd 16 Rooaitdn:
m&z 4'5!2‘.3:1 Dot racinos) 10 p.m. Artdbamn, Soodns =oh umﬁd}ﬁ‘?

A) 12 p.m. B) 10 p.m. C) 9p.m. D) 11 p.m.

NACIRTFRET RECED w08, 300° w¥onad, rsd Sosly <mb BN Boadsd ?
A) 25° B) 150° <) 50° D) 300°
<0 mesd iy S5 7 1365 »hdgd. ded nosd clom T mos clool R ) 8 &2
‘t.,'.l"I'TJL. “h =3 15 m**mn md‘a:mi*ﬂ ""r* ,ﬁn:.j n_:m ‘?
A) E-#L'l B) 270 C‘.I EEE D) 380
-
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7.

73.

74,

76.

.

78,

Use the right gerund.

His ___early in the morming helped him score well.
A) torise B) rise

C) rising D) having risen

Select the phrase from the sentence that contains an infinitive.
She went to the store to get some bread.

A) to get B) no infinitive

C) some bread D) to the store

Choose the correct form of the auxiliary verb that agrees with the subject.

The information provided to you __Wrong.

A) were B) was C) are D) have been
Choosa the right preposition.

| am good lawn tennis.

A} about B) in C) at D) of
Choose an option that expresses the sentence in transformed voice — Active/Passiva,
He is writing the book.

A) The book has been written by him. B} The book is being written by him.
C) The book is written by him. D} The book was written by him.
Complete the sentence using the right phrasal verb.

The meeting hasbeenput ____till tomorrow. (meaning : postpone)

A) out B) oft C) up D) on

Replace the underined text with correct idioms or phrases given in the options.
The Police Officer left no stone unturned in his search for the serial killer.

A) Behave smartly B) Conduct sincerely

C) Wasting no time D} Try every possible way

Choose the correct degree of comparison for the given sentence.
Delhi is bad than Mumbai in terms of poliution,
A) Delhi is worst than Mumbai in pollution.
B) Delhi is as bad as Mumbai in terms of poliution.
C) Delhi is more bad than Mumbai in terms of pollution,
D) Delhi is worse than Mumbai in terms of poliution,
-18-
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79. Choose the best one-word substitute for the underlined phrase in the sentence.

We have bought a new sewing machine that can easily be carried anywhere.
A) Cartable B) Portable
C) Potable D) Relatable

80. From the given options, choose the option that is the most opposite in the meaning
to the underlined word.
The world must realize the futility of wars.
A} Urgency B) Value
C) Usefulness D} Importance

81. From the given options, choose the option that is nearest in meaning to the

underlined word.

The woman's husband tends to vituperate her when he drinks,
A) Appreciate B) Abuse

C) Appraise D) Encourage

B2. Fill in the blanks with appropriate words given in the option so that the santence
appears to be in the correct form of Tense.

\ _Ihl_ﬁl before we reach the airport.
SRy 1 .

C) Is taking off e

SR LD

83. Which of the following is correctly spelt 7
A) Tresspass B) Trespass
C) Tresspas D) Trespas

84. Choose an appropriate Question Tag and fill in the blank.

He is never late for the classes, i
A) isn't he B) does he
C) doesn't he D) is he

A 18-
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85.

B&.

87.

N

Choose the appropriate feminine form of Horse from the following options.
A) Colt B) Horsess
C) Mare D) She-horse

Fill in the blank with appropriate collective noun.

The farmer moved his

of cows to higher ground to avoid the flood.
A) group B) batch
C) pack D) herd

Choose the most appropriate form of Indirect Speech for the following sentence.
He said, “Oh! It's a bad weather. | can't drive."

A) He exclaimed with sorrow that it was a bad weather and he can't drive.

B) He exclaimed with sorrow that it was a bad weather and he was not to drive.
C) He exclaimed with sorrow that it was a bad weather and he couldn't drive.
D} He exclaims with sorrow that it was a bad weather and he couldn’t drive.

Choose the most appropriate word to fill in the blank.

Those tablets are really my headache is much better now.
A) efficient B) effective

C) sensitive D) efficacious

Choose the correct meaning of the foreign words and phrases out of the four options,
Via media :

A) extreme course

B} right course

C) left course

D) middle course

Choose the appropriate option to fill in the blank,

Can you speak Spanish 7
A) a B) an
C) the D) no article

-20-
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91. $¥rdament Zonivd Booing I cRTE: ?

A) tRoGE, B} tRela C) weens D) meTs
92, ‘moud B BOC eFrdeh ?
A) =T B) wemB gl C) rbgro D) u=

93. #NENYs AocinT oY, iR ?
A) dsbes 35 1eeTODS Beo i
B) Cebenah 37 tenmdrs B Qe
C) debegd 33 weomgms B Seiaa
D) csborg 33 teondmhs Sk sriag

94. Cednene mmgmmmmammm gy wihs I0 ciRgso ?

A) eF B) e C) =g D) tetny
95. ‘dAread’ & IoT egrea?

A) Froibr B) el C) waen D) wisidoned
96. ‘TRee & Zoc adnaRor B0 cCRGE ?

A) mozfRear B) sZpor C) = cdegprr D) ZogRer
97. ddnagnvyg rhoart Heoo =0 ciRans 7

A) =mag B) =% C) un D) =aa

98. ‘wdbmeuy’ & oo ZbciRT JonaEn clREEh ?
A) echme + o B) sths+ fe  C) wtmm+ tndy D) e+ wde

99. wammmma.mmwm

A) u%&n:ﬂmulw@i
B) wdoins SRacd 2eott embyimiamrogc.

C) o Snaci 8 sbparids e
. D) wchind =g wddnond o,
100. mRochd) SR wehithTRn Mocirem komR G tharny, tor sTvh b
2 g0 s mol T cins Dond Aeod 7
A) Daert B) Ao eon  C) AgEge oot D) Agdort




